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SOCIOLOGY HSSC-I
SECTION — A (Marks 20)

Time allowed: 25 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 25 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C / D. Each part carries one mark.

(i Discipline of Sociology studies

A Social relations B. Animals

C. Astronomy D. Literature
(ii) Problems between Mill-owner and workers are studied in

A Social disorganization B. Social psychology

C. Social group D. Industrial sociology
(iii) Who defined Sociology as the science of society ?

A Taicott Parsons B. Max Weber

C. Durkheim D. W.G. Sumner
(iv) Facts are collected through

A Hypothesis B. Prediction

C. Sociology D. Research
(v) Man's life starts from (institution).

A Educational B. Family C. Religious D. Recreational
(vi) Sociologists work as parole officers in

A Social welfare B. Jail C. Court D. Police
(vii) Boxing is an example of

A Physicai interaction B. Social group

C. Symbolic interaction D. None of these
(viii)  Mental or physicai change is necessary in

A Social interaction B. Social group

C. Culture D. Society
(ix) Who is the head of a Patriarchal family?

A. Father B. Mother C. Grandmother D. None of these
(%) Basic needs of life are fulfilled by the

A Primary group B. Secondary group

C. Local group D. Informal group
(i) Concept of the Secondary group was originated by

A C. H. Cooley B. Mac Iver C. Comte D. Durkheim
(xin) Duties and responsibilities of the members are written in the

A Primary group B. Local group C. Formal group D. Informal group
(xii)  Selection of Prime Minister is an example of

A Absolute competition B. Impersonal competition

C. Both A and B D. None of these
(xiv) Change in status has an effect on

A. Social interaction B. Caste

C. Role D. Modern society
(xv) Role conflict is a

A Social change B. Disease C. Problem D. None of these
(xvi) Which of the following is a negative sanction?

A Fine B. Praise C Medal D. All of these
(xvi)  Black marketing is an example of

A Competition B. Informal cooperation

C. Antagonistic cooperation D. None of these
(xviii)  Continuous geographical mobility is found in society.

A Modern B. Sedentary C. Nomadic D. Traditional
(xix) Values, customs and norms are

A. Material culture B. Non-material culture

C. Real culture D. Ideal culture
(xx) In rural areas important element of social stratification is

A Wealth B. Education C. Caste D. Occupation
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SOCIOLOGY HSSC-I P

Time allowed: 2:35 Hours Total Marks Sections B and C: 8(

NOTE: Answer any fifteen parts from Section ‘B(a)’, one part from Section ‘B(b) and any three questions
from Section ‘C’ on the separately provided answer book. Use suppiementary answer sheet i.e
Sheet-B if required. Write your answers neatly and legibly.

SECTION - B (Marks 50)

Q.2 a Answer any FIFTEEN parts. The answer to each part should not exceed 3 to 4 lines. (15x3 =45

)] How has Timascheff defined Sociology?

i) What is the similarity between Sociclogy and Psychology?
iii) What is Sociology?

iv) What is the relationship between Sociology and History?
V) What is the role of a sociologist in industry?

Vi) Write down the role of a saciologist in crime control.

vii) Define Social Interaction.

viii) Define Acculturation.

iX) Define Accommodation.

x) Write down any three characteristics of the Primary group.

(

(

(

(

(

(

(

(

(

(

(xi) What is Science?

(xii) Give any three examples Ascribed status.
{xii)  How have Ogburn and Nimkoff defined Social Norms?
(xiv)  Define Formal and Informal groups.
(xv) Define Social Sanctions.
{xvi) Define Nomadic society.
(xviiy  Define Culture.
(xviii) Define Family.
(xix)  Write down any three functions of Education.

(%) Write down any three functions of the Religious institution.
(

xxi)  List the determinants of Social stratification.

b. Attempt any ONE part. (1x8=§
(H What are the causes of Sacial Mobility?
(ii) Write down the characteristics of Secondary group.
SECTION — C (Marks 30
Note: Attempt any THREE questions. All questions carry equal marks. (3 x10 =3C

Q.3 What is the difference between Social interaction and Social action?
Q.4 What is Role conflict? Discuss.
Q.5 Write down the types of Social Norms and explain any one of them.

Q.6  Whatis cultural uniformity and cultural variability? Discuss.
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